Ratio to Pythia 6.428 359

1960 GeV ppbar Top (parton level)
— 1 T 1 " T N R B A

3 | | T T 1T T 1T T 17 | g

10° - Ho

= AQ (ttbar) (pTtt < 50) 33

— 1=

— --=-- Pythia 6.428 359 —a

102 &= —&— Pythia 6.428 370 n

—~ —*— Pythia 6.428 a = c_:!

[ --+-- Pythia 6.428 dw [

~ —o— Pythia 6.428 p0 1o

. i >

10 &= - Pythia 6.428 pro-q20 /
- / .

1= ,~" =)

— a3 00m

— K a’ — <

- "‘ ‘ r i e's)

- W ] @

| & 2 .7 ] 8

P —

10_1 = Ve o ==

— ABET W 4%

: B az“‘Aﬁr - = : ‘E'

B A AR 3 1<

— ABEASAAATLT . -G

102 Eyedrpprr P =5

— 3 0

— Hu

— 0o

B (MC_FBA _TTBAR) 1=

B A T H U HO OO IO B L

2 =2




	Contents
	Page 1


